=LPDB

*UXSD 5R]NiDG 30 /  7\J
7 7 7 7 7\6]
) 3URIHNIRZDQIH 3URIHNIRZDQIH
\QQRZDFIH L ZVSy:FTHVQH OHIRGRIRJID EDGDE XQLZHWDIQH PRGXi OHIRG\ VIDAVINFIQH Z | |XQLZHIVDIQH PRGXé
NHIXQN. SHGDIRJLFTQH SHGDJRIFIQ\FK iz GU GUKDE 3URI 8-* SHGDJRJLFH (DE ~ GU GUKDE 3URI 8-*
iZ SURI QDG]Z =IHIEWN _RTHIVND SJQHVIND = $GDPVND GIDURE -RTHWND $JQHVIND = | |$GDPVND GIDIRE
L 3DZH; - 30 30 & ORQIND - 30 30 7/ ORQIND - 30
& 2 INJRGQIX  GZIFTHQD / /
P 7N
- 7N
I 3URIHNIRZDQUH
Q 3HGDJRJIIND RIYIQD (Z XQLZHIVDIQH PRGX
= GU KDE 3LDVHFND GU KDE 3IRI 8-~
0) ODIRIJDID = 3 $GDPVND 6IDURE
X o & - ORQIND = 30
o /
4
0 2 INJRGQIX  DICFD
PIQ
7\6]
3HGDIRIIN 6]
D RJyIQD 3HGDJIRJIIND
iz 6l SRUyZQDZFID 4z Gl
KDE 3IDVHF =DIDV .DIDI]\QD 3 O
ND &
OD:JRUIDID =DICFID Z IRUPIH H
o & (HDUQQIX
7N N 7N
OHIRGRIRJLD EDGDE
SHGDJRIFIQ\FK Z Gl 3URHNIRZDQH 3URIHNIRZDQH
-RTHWND $JQIHVIND XQLZHIVDIQH PRGXd XQLZHIVDIQH PRGXd
30 - GUKDE 3URI 8-* GU = URQD OHIN ,JDEHID
- INJRGQX  Z\NDG SODPVND 6iDIRE 30 =
= PLQ = \NiDG Z IRUPIH ORQND 30 = - INJRGQX  Z\NiDG
Z 1GDIQHI = INJRGQIX  Z\NiDG PLQ = \NiDG Z IRUPIH
> PLQ = \NiDG Z IRUPIH 1GDIQHI
« 7N 1GDIQHI
N
3HGDJRJIND RIYIQD Z 7]
GU KDE 3LDVHFND (JIDPIQ GU . RTHWND $IQHVIND
ODUJRIIDID 30 : 30 -
- (*=3$0,1 5
S INJRGQX  Z\NiDG
PlQ = \NiDG Z IRIPH
1GDIQHI
7N 7N
A 3HGDJRJIND SRUyZQDZFID UZ Gl $QGUDJIRIIND GZ Gl = URQD OHAN
8 =DIDV _DIDV]\QD = 30 IDEHID 30 &
4 &
T 7\G]  ]DICFID Z IRIPIH

VIDFIRQDUQHI 3RJRVIDiH INJRGQIH Z H

(HDUQLQJIX




=LPDB
30

*UXSD S5RINiDG

/7  7\J

HURGD

7\6]

3HGDJRJIIN
D
SRlyZQDZ
FID iZ G
U=DIDV
_DIDUT\QD
30 &
7\6]
DICFD Z
IRUPLH
VIDFIRQDUQ
HI 3RTRVIDS
HINIRGQUH
ZH
IHDUQIQIX

F]ZDUWHN

7N\

OHIRG\ UHIDNVRZR
NRQFHQIUXIaFH IDE  SURI
QDG]Z =HILEVNL 3DZH:

N 30 /

- INJRGQIX  ]DICFID
PIQ

/HNIRUDIN GZ

7N\

30

3w

6R




